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ABIET AN A = 121,830 121,830 0
e 76,349 157,949 81,600
2 6.613,961 6,002,668 611,293
HYSHAH|(SAR2IAIA)(IIEH/IIEF) 39,433 44,875 A5, 442
ol 2oy 4,740 5,400 660
ol e oy 4,740 5,400 660
203 AR XY 4,740 5,400 660
02 HIIAAREXY| 1,140 1,200 A60
OXSIAD| IR (0l AR L) 1,140,0002! 1,140 1,200 A60
04 BANSYARENH| 3,600 4,200 AB00
ORNSYALZX (KAL) 3,600,0002! 3,600 4,200 AB00
|2 H| 34,693 39,475 N4,782
|2 | 34,693 39,475 N4,782
o2 oy 20,869 25,075 A4,206
AR 22l 18,349 21,793 N3,444
OUBrE2H| (0l AR L) 15,849 18,693 NA2,844
0 I ZAIREZH] 1,400,0002! 1,400 1,860 A460
0=AD EU(Zet) 1,246,0002 1,246 1,584 A338
0=AI =¥ 1,900,0002! 1,900 2,238 A338
OHRE AQDE 7,100,0002! 7,100 8,525 A1,425
0 SAHZ X (A4) 972,0002 972 1,080 A 108
0 = AHEXI(B4) 1,575,000 1,575 1,750 A1T5
OS2I (0l A=) 2,500,0002! 2,500 3,100 AB00
02 2RI 2,520 3,282 AT62
OZB222 < MAI(AEZ) 2,400 3,162 NT62
0L 2,400,0002! 2,400 3,162 AT62
202 OiHl 13,824 14,400 A576
2ol 13,824 14,400 A576
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= 0 99, 100 £99, 100
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ODIS AT THBA A (Ol AHE2L)
5,985,000%! 5,985 6,300 A315
ABAE 2RlAY 4,000 0 4,000
Nrcazgeza 4,000 0 4,000
201 At ol 1,000 0 1,000
01 At el 1,000 0 1,000
SEEN 5,0008 * 491 *502 1,000 0 1,000
203 2= Y| 3,000 0 3,000




ok

M A GACAY(BTES/NGAE - 2)
CHol: AIBIAE PRA (Col @)
S EM O (BH) - NRAY - Ba= 01l &t o o1 o H D=2
03 AIBFZHRFEYI 3,000 0 3,000
Odt=XelANEdERF=E 3,000,000& 3,000 0 3,000
BAE El(HABS/NHAT - 2 F) 813,050 1,010,900 197,850
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01 AtS22lgl 900 1,000 A 100
OZZHI (A E) 900 1,000 A100
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01 H7E9H| 25,500 30,000 A4,500
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308 AXIEtHSOIA 1,000 4,000 A 3,000
05 MASHARED 1,000 4,000 3,000
OdlS72EOE ot 22l 1,000,000 1,000 4,000 A 3,000
401 AIEHIZ 20| 30,000 170,000 A 140,000
04 Al&HI 30,000 170,000 A 140,000
Oga sz ot FIHAIL o0& 0 120,000 A 120,000
Odt=ZH =X 22| 30,000,000 30,000 50,000 A 20,000
MFZ ST IIE2HE +E 750,000 800,000 50,000
207 & 2 OH Y| 750,000 800,000 A50,000
01 H3EHH| 750,000 800,000 A50,000
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02 ™ ADHEHI 0 8,000 28,000
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401 A& HI 22 THY] 26,578 44,000 AAT7,422
04 Al&H| 26,578 44,000 AT ,422
OS%=H HE= 6,578 24,000 A1T,422
0=2&dE U=H 2,578,000& 2,578 20,000 ATT7,422
Aga~C Ay 3,105,877 2,592,470 513,407
201 Bt 900 1,000 A 100
01 At2teltl 900 1,000 A100
O=&HI (Ml aE2) 900,000 900 1,000 A100
202 04l 3,500 3,600 A 100
01 =Uodbl 3,500 3,600 A100
OJI2gR=8dutl(0aE2) 3,500,000& 3,500 3,600 A 100
401 A& HIL 2 CHYI 3,101,477 2,587,870 513,607
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OsE2H0l A5 A X 93,000,000 93,000 0 93,000
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01 JIEtEIHEES 577,561 404,561 173,000
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